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Number of Questions to be attempted : 100

Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 512452802
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 51245212939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Range of the function represented by the following arrow diagram is

X f Y

1. ‘{y]1 Y2, Yz, Ya, yE}
2.4v1, Y2, Y3, Ya}

3.{y1, ¥3, va}
4 Mone of the abaove

Options :



51245239857. 1
51245239858. 2
51245239859. 3
51245239860. 4

Question Number : 2 Question Id : 51245212940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The graph of the function f’{:m] =3¢ 1 5isa

1. straight line
2. circle

3. ellipse

4. parabola

Options :

51245239861. 1
51245239862. 2
51245239863. 3
51245239864. 4

Sub-Section Number : 2
Sub-Section Id : 512452803
Question Shuffling Allowed : Yes

Question Number : 3 Question Id : 51245212941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

State True/False: ].im_{:t.' 1= 3} =3
L |

1. True
2. False

Options :



51245239865. 1
51245239866. 2

Sub-Section Number : 3
Sub-Section Id : 512452804
Yes

Question Shuffling Allowed :

Question Number : 4 Question Id : 51245212942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

PR -
lim p—q

7—+1

2:3
x5
4.6

Options :

51245239867. 1
51245239868. 2
51245239869. 3
51245239870. 4

Sub-Section Number : 4
Sub-Section Id : 512452805
Yes

Question Shuffling Allowed :

Question Number : 5 Question Id : 51245212943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

lim £ = —co

G
n—

1. True
2. False



Options :
51245239871. 1
51245239872.2

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 6 Question Id

Correct Marks : 1 Wrong Marks :

K #4322 -7 -

5
512452806
Yes

: 51245212944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
0

71 23+8

1L
TAT

- ol

1

=J

2.

F
1

47

Options :

51245239873. 1

51245239874. 2

51245239875. 3

51245239876. 4

Question Number : 7 Question Id
Correct Marks : 1 Wrong Marks

: 51245212945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

: 0



lim 2218 —
r—+16 vE—4
1.2

2.3

3.4

4.8

Options :

51245239877. 1
51245239878. 2
51245239879. 3
51245239880. 4

Question Number : 8 Question Id : 51245212946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

45 — & < uz) <454+ £ Vo # 0, then imu(z) =

1.0

P

3.45

4. None of the above

Options :

51245239881. 1
51245239882. 2
51245239883. 3
51245239884. 4

Sub-Section Number : 6
Sub-Section Id : 512452807
Question Shuffling Allowed : Yes



Question Number : 9 Question Id : 51245212947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A function _f{m) has right hand limit I, at ¢, if, for every number g > (), there exists a
corresponding number § > Qsuchthat |f(z) — L] < e if 0<z—¢c <9

1. True
2. False

Options :
51245239885. 1
51245239886. 2

Sub-Section Number : 7
Sub-Section Id : 512452808
Question Shuffling Allowed : Yes

Question Number : 10 Question Id : 51245212948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

rnji-..': f

For the function f(z) = ===

1. f is continuous at x=0

2. fis continuous at x=2

3. fis not continuous at x=2

4. fis continuous at every point on the real line

Options :

51245239887. 1
51245239888. 2
51245239889. 3
51245239890. 4

Question Number : 11 Question Id : 51245212949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

* sinme __
lim . =

-l

1.0
2.1
3.2

4.8nl

Options :

51245239891. 1
51245239892.2
51245239893.3
51245239894. 4

Question Number : 12 Question Id : 51245212950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(@, o)

L{zeR:z > a}
2{rcR:z>a}
3{rcR:z <a}
4{zcR:z<a}

Options :

51245239895. 1
51245239896. 2
51245239897. 3
51245239898. 4

Sub-Section Number : 8
Sub-Section Id : 512452809
Question Shuffling Allowed : Yes



Question Number : 13 Question Id : 51245212951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For the curve y = f(z), the slope at the point P having coordinates (xg, f(zp)) Iis given
by B Fla)—flxn)

=z V17T

1. True
2. False

Options :
51245239899. 1
51245239900. 2

Sub-Section Number : 9
Sub-Section Id : 512452810
Question Shuffling Allowed : Yes

Question Number : 14 Question Id : 51245212952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The slope of the curve y = % atz =a is

1
L

1
> a

]

T
4 1

ik
Options :

51245239901. 1
51245239902. 2
51245239903. 3
51245239904. 4



Question Number : 15 Question Id : 51245212953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The derivative of y = 300z + 777 with respect to x is

1. 777

2. 1077

3. 300

4. None of the above

Options :

51245239905. 1
51245239906. 2
51245239907. 3
51245239908. 4

Question Number : 16 Question Id : 51245212954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

x5 [cotz] =

r;!:?:

' IZ.SIZ2 £

i 'CS-IZ2 xr

.sec’

. —sec?

N TV R

Options :

51245239909.
51245239910.
51245239911.
51245239912.

NSO U'S I O I



Question Number : 17 Question Id : 51245212955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Where does the slope of the curve y = % equal —%?

E-\J
I
|

e —
[ai]
=
[

E Y
|
,b"‘l
I

b=

e —

Options :

51245239913. 1
51245239914.2
51245239915. 3
51245239916. 4

Question Number : 18 Question Id : 51245212956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lo o

i 2— with respecttosis ____

The second derivative of r =

5§

1.

-nr.-p_lb__.
| wila

2 5
1 ]

]
3

o
Fh-lb"

2.
3.
4.

3¢
Options :

51245239917. 1
51245239918. 2
51245239919. 3
51245239920. 4



Question Number : 19 Question Id : 51245212957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jim X—— =
r—+0 <

o o =
b po|e=

Options :

51245239921. 1
51245239922. 2
51245239923. 3
51245239924. 4

Question Number : 20 Question Id : 51245212958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
. e o L
il_lﬂ. sin x
1.0
A |
3.2
4.3

Options :

51245239925. 1
51245239926. 2
51245239927. 3
51245239928. 4



Question Number : 21 Question Id : 51245212959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I1C:tr3,.r:]_’[|‘1er"|j—?“II —

Options :

51245239929. 1
51245239930. 2
51245239931. 3
51245239932. 4

Question Number : 22 Question Id : 51245212960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If 1522 — 14}.% = (), then f_j =
. d20my’ —22024
U196
420xy* — 2257
19034
420zy" +22524
1963
420xy* — 2257
19657

Options :

51245239933. 1
51245239934.2
51245239935. 3



51245239936. 4

Question Number : 23 Question Id : 51245212961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If y 4 siny = =z, then f_y =
[F 84
L sy
" (14cos y)
sin ¥
" {14cos y)?
cog g
3. {1+4cos y)?
e PO
% (14cos y)?
Options :

51245239937. 1
51245239938. 2
51245239939. 3
51245239940. 4

Question Number : 24 Question Id : 51245212962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

d 1

dx® (E}

1 (0™ ()
ot

2 {(—1)" (nl)
:.'[‘."ﬂ

5 (1™ ()

: g+l

. | {_ 1:' % {ﬂ'[:l

mﬂ-l—l

Options :



51245239941. 1
51245239942.2
51245239943. 3
51245239944. 4

Question Number : 25 Question Id : 51245212963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ar

™

[cos(ax +b)] =

1. a" cos(az + b+ nw)
2.a® [‘.DS(G:E +b+ %)
3. ™ sin(am + b+ %)

4 Mone of the above

Options :

51245239945. 1
51245239946. 2
51245239947. 3
51245239948. 4

Sub-Section Number : 10
Sub-Section Id : 512452811
Yes

Question Shuffling Allowed :

Question Number : 26 Question Id : 51245212964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Suppose u and v are two functions of x possessing derivatives of nth order. Then the nth
derivative of the product function uv is given by

(uv)y = Ugv +"Crag_1v1 + "Cy Up vz + -+ +"Cruv,

1. True
2. False

Options :
51245239949. 1
51245239950. 2

Sub-Section Number : 11
Sub-Section Id : 512452812
Question Shuffling Allowed : Yes

Question Number : 27 Question Id : 51245212965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fY= (mz - 1} . then
Ynt2 — 22Ype1 + nn+1l)y, =

Unt2 — 2ZYpy1 — n(n+1)y, =

Untz + 2ZYpy1 + N {ﬂ—l—l;} Unp =

= o a o a9

Yn42 0% E":'1‘:5|"r1.+1 - n {n—i_l} Ynp =

Options :

51245239951. 1
51245239952.2
51245239953. 3
51245239954. 4



Question Number : 28 Question Id : 51245212966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If fis differentiable at © = &g, then the local linearization of f at &g is

L(z) = f(z0) — f'(20)(z + 20)
2. L{.I!} = f[.'l:ﬂ) +f'r ED‘I(RI—F:BD‘]
3 L(-T*‘) = f(za) — f'(zo0)(x — 20)

L(z) = f(zo) + f'(zo)(z — z0)
Options :

51245239955. 1
51245239956. 2
51245239957. 3
51245239958. 4

Question Number : 29 Question Id : 51245212967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

@y
d( r+l r} T =
il
(z+1)*
_ _dx
- (z+1)*
day
(z—1)*
dax
(z—1)*

1.

3I_

-

Options :

51245239959. 1
51245239960. 2
51245239961. 3
51245239962. 4



Question Number : 30 Question Id : 51245212968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The estimated percentage change in f while moving from Zg to a nearby point g + dix is

flzn)

df= 100
.i"lrmﬂj

2 7 % 100
df

2 flan)

af

Options :

51245239963. 1
51245239964. 2
51245239965. 3
51245239966. 4

Sub-Section Number : 12
Sub-Section Id : 512452813
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 51245212969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

k] ol .
]ug{l—l—m):m—%—l—%—%-l—'——. .
1. True
2. False
Options :

51245239967. 1
51245239968. 2



Sub-Section Number : 13
Sub-Section Id : 512452814
Question Shuffling Allowed : Yes

Question Number : 32 Question Id : 51245212970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The function _f(m) — 9425 strictly increasing in the interval

1. (—o0, 3)
— &0, U}
3, c0)

(0, 3)

—— p—

oW Mo

Options :

51245239969. 1
51245239970. 2
51245239971. 3
51245239972. 4

Question Number : 33 Question Id : 51245212971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If f has a local maximum or minimum value at an interior point c and if f is differentiable at c,
then

Options :
51245239973. 1



51245239974. 2
51245239975. 3
51245239976. 4

Question Number : 34 Question Id : 51245212972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If p(z) is a polynomial of even degree and if the leading coefficient is positive, then

1. there is an absolute minimum but no absolute maximum
2. there is an absolute maximum but no absolute minimum
3. there is neither absolute minimum nor absolute maximum

4. there is absolute maxima

Options :

51245239977. 1
51245239978. 2
51245239979. 3
51245239980. 4

Sub-Section Number : 14
Sub-Section Id : 512452815
Question Shuffling Allowed : Yes

Question Number : 35 Question Id : 51245212973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Suppose f is continuous in the closed interval [a, b] and differentiable in the open interval

(@, b), then there is a point ¢ in the open interval (a, b) at which w = f'{¢}

—i1

1. True
2. False



Options :
51245239981. 1
51245239982. 2

Question Number : 36 Question Id : 51245212974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If two functions f(z) and g(z) are differentiable in a closed interval [a, b] and ¢/(z) # 0 for
any value of z in [a, b|, then there exists at least one value ¢ of & belonging to the open
fB)-fla) _ file)

g(b)-gle)  g'le)

interval(a, b) such that

1. True
2. False

Options :
51245239983. 1
51245239984. 2

Sub-Section Number : 15
Sub-Section Id : 512452816
Question Shuffling Allowed : Yes

Question Number : 37 Question Id : 51245212975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For the function y = i—‘?m, z # 30,

1. y = 25 is a horizontal asymptote
2. ¢ = 25 is a vertical asymptote
3. y = 30 is a horizontal asymptote
4. x = 30 is a vertical asymptote

Options :
51245239985. 1



51245239986. 2
51245239987. 3
51245239988. 4

Question Number : 38 Question Id : 51245212976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Asymptotes of g2 — 4 = 1 are

ly=—xandy==x
2y=1—gandy=14+2
dy=—x—landy=x+1
4dy=2—zgandy=2+4+=

Options :

51245239989. 1
51245239990. 2
51245239991. 3
51245239992. 4

Question Number : 39 Question Id : 51245212977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A horizontal asymptote to the graph of the function f(x) = fﬂf is
l.y=—&
Options :

51245239993. 1
51245239994. 2



51245239995. 3
51245239996. 4

Question Number : 40 Question Id : 51245212978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The curve g24? = (;1."2 e yg)? has

1. no horizontal asymptote

2. no vertical asymptote

3. y = 30 is an asymptote

4. y= —1 and y = 1 are asymptotes

Options :

51245239997. 1
51245239998. 2
51245239999. 3
51245240000. 4

Question Number : 41 Question Id : 51245212979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The graph of f(z) = 2? — 3 4 4defined on the domain D = {0, 1, 2, 3} is

1. Graphof f = {(0, 4
2. Graphof f = {(0,
3. Graphof f = {(0,
4. Graphof f = {(0,

)y (1, 2),(2, 2),(3, 4)}
) (1, 2),(2, 22),(3, 4)}
)i

):

W= W=

b

1, 2),(2, 2),(3, 14)}
1, 12),(2, 2),(3, 4)}

He

k]

Options :

51245240001. 1
51245240002. 2
51245240003. 3



51245240004. 4

Question Number : 42 Question Id : 51245212980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The graph of ¢ = /322 is

1. symmetrical about the x-axis
2. symmetrical about the y-axis
3. symmetrical about the origin
4. symmetrical about both the x- and y-axes

Options :

51245240005. 1
51245240006. 2
51245240007. 3
51245240008. 4

Question Number : 43 Question Id : 51245212981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Graph of g* 4+ ¢ = By is

1. symmetrical about the x-axis
2. symmetrical about the y-axis
3. symmetrical about the origin
4. symmetrical about the line y = &

Options :

51245240009. 1
51245240010. 2
51245240011. 3
51245240012. 4



Question Number : 44 Question Id : 51245212982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

600th term of the sequence ((—1)" : n € N)

1. 100
2. —100
e |
4.1

Options :

51245240013. 1
51245240014. 2
51245240015. 3
51245240016. 4

Sub-Section Number : 16
Sub-Section Id : 512452817
Question Shuffling Allowed : Yes

Question Number : 45 Question Id : 51245212983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A sequence of real numbers (u, ) converges if there is a real numbers [, such that for every
e > () there is a positive integer N such that |, — L| > & YR > N

1. True
2. False

Options :
51245240017. 1
51245240018. 2

Sub-Section Number : 17
Sub-Section Id : 512452818



Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 51245212984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sequence (—1, 20, -1, 20, ..., —1, 20, ...)

1. converges to 2

2. converges to —1

3. does not converge to any real number
4. converges to some real number

Options :

51245240019. 1
51245240020. 2
51245240021. 3
51245240022. 4

Sub-Section Number : 18
Sub-Section Id : 512452819
Question Shuffling Allowed : Yes

Question Number : 47 Question Id : 51245212985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sequence {(—1]”%} converges to 0.

1. True
2. False

Options :
51245240023. 1
51245240024. 2

Sub-Section Number : 19



Sub-Section Id : 512452820
Question Shuffling Allowed : Yes

Question Number : 48 Question Id : 51245212986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the Fibonacci sequence?

1. (l.r 1, 2, 2, 4, 6, 10, 16, 26, 42, ]
2.(0, 1, 2, 3, 4, 6, 10, 16, 26, 42, ]
3. {1, 1, 2, 3, 5, § 10, 16, 26, 42, ...)
4.(1, 1, 2, 3, 5, 8, 13, 21, 34, 55, ...)
Options :

51245240025. 1

51245240026. 2

51245240027. 3

51245240028. 4

Question Number : 49 Question Id : 51245212987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If a non decreasing sequence converges, it converges to

1. its least upper bound.

2. its upper bound.

3. its lower bound.

4. its greatest lower bound.

Options :

51245240029. 1
51245240030. 2
51245240031. 3
51245240032. 4



Question Number : 50 Question Id : 51245212988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

L [ 405-9n° \ .
Limit of the sequence o } E

1.9
2.—9
3.0
4.1

Options :

51245240033. 1
51245240034. 2
51245240035. 3
51245240036. 4

Question Number : 51 Question Id : 51245212989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sequence ({—1]” l)

T

1. converges to 1
2. converges to —1
3. converges to 0
4. doesn’t converge

Options :

51245240037. 1
51245240038. 2
51245240039. 3
51245240040. 4



Question Number : 52 Question Id : 51245212990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

lim (ﬂ)ﬂ =
n—roc \ 71

d B

2
3

m

® =

4. doesn't exist

Options :

51245240041. 1
51245240042. 2
51245240043. 3
51245240044. 4

Question Number : 53 Question Id : 51245212991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sum of the series 0.3 + 0.03 4 0.003 +0.0003 +---is

Options :

51245240045. 1
51245240046. 2
51245240047. 3
51245240048. 4



Question Number : 54 Question Id : 51245212992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following series converges?

L142434::-

20

2. Y W

n=1

1 P) s
e BT

1 1 1
gt

Options :

51245240049. 1
51245240050. 2
51245240051. 3
51245240052. 4

Question Number : 55 Question Id : 51245212993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

20
The series 21$ = 1—11, —I—% —I—Si,, -I—--*-I-%Lp + +++ converges if
=

1. p=1
2. p=0
3. p=0
4.\p>1\)

Options :

51245240053. 1
51245240054. 2
51245240055. 3
51245240056. 4



Sub-Section Number : 20
Sub-Section Id : 512452821
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 51245212994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o0
Ly -1 1 \1 [=]
The series Z F 7 converges
n=1
1. True
2. False

Options :
51245240057. 1
51245240058. 2

Sub-Section Number : 21
Sub-Section Id : 512452822
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 51245212995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following series is absolutely convergent?

O T T ! P R [ DT

23 33 43 5
| SO ORCNG T 8
2. \,-"ii—l_-'ll.""l '\.-'Ilﬂ
1 1 1 1
3'1_T'_1+.T:T_4H+W_IH

41-2+43—4+ 4 (-1)"n+--.

Options :

51245240059. 1
51245240060. 2
51245240061. 3



51245240062. 4

Sub-Section Number : 22
Sub-Section Id : 512452823
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 51245212996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

]
U1 |

Let L, be a series with nonzero terms and suppose that p = lim —— =1, then the
n—++oa  |Un|

=1
series converges absolutely.

1. True
2. False

Options :
51245240063. 1
51245240064. 2

Sub-Section Number : 23
Sub-Section Id : 512452824
Question Shuffling Allowed : Yes

Question Number : 59 Question Id : 51245212997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o0
Thepovu'erge;iesEm"’*:l+m—|—m?—|—---+mﬂ+...

=0

1. doesn't converge at gz = 1
2. converges aty =1

3. converges at ¢ = 1010

4, converges at ¢ = 2.2

Options :



51245240065. 1
51245240066. 2
51245240067. 3
51245240068. 4

Question Number : 60 Question Id : 51245212998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

20
The radius of conergence of 3, nlz” =14z + 2lz° + 3l2® + ..+ s

=0

1. 400
2.1
3.0

1
43

Options :

51245240069. 1
51245240070. 2
51245240071. 3
51245240072. 4

Question Number : 61 Question Id : 51245212999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The interval of convergence of the series 1 L p 4+ 22 L 23 1 ... s



51245240073. 1
51245240074. 2
51245240075. 3
51245240076. 4

Question Number : 62 Question Id : 51245213000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is the cosine series?

1.1+§ + 8+ ..

2e+ 5 + &+,

51
i 5
& i H
Sy T p T
2 4
HH T
Elogy =& gy o

Options :

51245240077. 1
51245240078. 2
51245240079. 3
51245240080. 4

Question Number : 63 Question Id : 51245213001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The parametric equations z = cost, y = sint (¢ varies over the closed interval [0, 27] )
represents

1. a parabola

2. an ellipse

3. a circle

4. a straight line

Options :



51245240081. 1
51245240082. 2
51245240083. 3
51245240084. 4

Question Number : 64 Question Id : 51245213002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

dy
i

whenz =2t 4+ 3and y = 2 _1is

1. 2¢
2.t

3. —¢
4. -2t

Options :

51245240085. 1
51245240086. 2
51245240087. 3
51245240088. 4

Question Number : 65 Question Id : 51245213003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



f;f_':whenm:gt_ﬁ andy =t —¢2is
H

4+12¢2 1242
(2+382)°
4+12¢* +138°
(2-322)°
4+12¢ —12¢3
(2-32)°
441282 122
(2—3e2)*

Options :

51245240089. 1
51245240090. 2
51245240091. 3
51245240092. 4

Question Number : 66 Question Id : 51245213004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is the Cartesian equivalent of the curve whose polar equation is

rcos(d — 7) = V27

lLzt+y=4
2.m—|—y:%
32+y=2
g —y=2
Options :

51245240093. 1
51245240094. 2
51245240095. 3
51245240096. 4



Question Number : 67 Question Id : 51245213005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is the polar equivalent of the curve whose Cartesian equation is

>+ (y—4)2 =167

192 = —8psinf
2.9 = _8rcosh
3.7 = 8rcos#
4. p2 = 8pginf
Options :

51245240097. 1
51245240098. 2
51245240099. 3
51245240100. 4

Question Number : 68 Question Id : 51245213006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The polar equation ¢ = 7 cos 38 has

1. 2 equally spaced petals of radius 7
2. 3 equally spaced petals of radius 7
3. 6 equally spaced petals of radius 7
4. 9 equally spaced petals of radius 7

Options :

51245240101. 1
51245240102. 2
51245240103. 3
51245240104. 4



Question Number : 69 Question Id : 51245213007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The curvature at any point of a circle is

1. the radius of circle.

2. twice the radius of circle.

3. the reciprocal of the radius of circle.

4. the reciprocal of twice the the radius of circle.

Options :

51245240105. 1
51245240106. 2
51245240107. 3
51245240108. 4

Question Number : 70 Question Id : 51245213008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The radius of curvature of the ellipse % L f_; = 2 at the point (3, 4) is

Options :

51245240109. 1
51245240110. 2
51245240111. 3
51245240112. 4

Question Number : 71 Question Id : 51245213009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The radius of curvature of the curve # = a(t + sint), y = a(1 — cost) at a point ¢ in

parametric coordinates is

1. p(t) = 4a cost

2. p(t) = 2a cos (5t
3. p(t) = a cos (%t)
4. p(t) = 4a cos %t)

Options :

51245240113. 1
51245240114. 2
51245240115.3
51245240116. 4

Sub-Section Number : 24
Sub-Section Id : 512452825
Question Shuffling Allowed : Yes

Question Number : 72 Question Id : 51245213010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

 dr \213/:
P-HE) T

Formula for radius of curvature in polar coordinates is ﬂ('ﬂ) =

=1 ¥ T 2"
r+2(5) - S3)
1. True
2. False

Options :

51245240117. 1

51245240118. 2

Sub-Section Number : 25
Sub-Section Id : 512452826



Question Shuffling Allowed : Yes

Question Number : 73 Question Id : 51245213011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The inverse of the function f(z) = 2z — 3 is

1) = 282
2 11 (2) = 222
3. f 1('1:} = 4193
4 41(0) = 552

Options :

51245240119. 1
51245240120. 2
51245240121. 3
51245240122. 4

Question Number : 74 Question Id : 51245213012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

im 235032
() —+(0,1) /135 +15y2+170

1.0
2 —1

1
33

1
=g

Options :

51245240123. 1
51245240124.2
51245240125.3



51245240126. 4

Question Number : 75 Question Id : 51245213013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

&u

The value of P where 4 = u(z, y) = yzei‘f i $9y3 4 16 is

2ye” + 6y
Eyﬂw _ ﬁy‘é
. —2ye” + 6y’
. —2ye” — By’

O VR

Options :

51245240127. 1
51245240128. 2
51245240129. 3
51245240130. 4

Question Number : 76 Question Id : 51245213014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
h

fw=z+2y+2°, z=2, y=v’+Inv, z = 2u, then 3£ =

bW
& o
I
|=

Options :

51245240131. 1
51245240132. 2
51245240133.3



51245240134. 4

Sub-Section Number : 26
Sub-Section Id : 512452827
Question Shuffling Allowed : Yes

Question Number : 77 Question Id : 51245213015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A function f(x, y) is differentiable at (zg, ,yq) if
Af—folwn, yo)da—fi (o, u)Ay —0

lim ——
Y Az) +(Ay)*

(Az, Ay)—(0, 0)

1. True
2. False

Options :

51245240135. 1

51245240136. 2

Sub-Section Number : 27
Sub-Section Id : 512452828
Question Shuffling Allowed : Yes

Question Number : 78 Question Id : 51245213016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The function f(z) = 1

E 4

1. is not continuous for any nonzero real number
2. is continuous for any nonzero real number

3. is continuous when = ()

4. is not continuous when ¢ = —1

Options :
51245240137. 1



51245240138. 2
51245240139. 3
51245240140. 4

Sub-Section Number : 28
Sub-Section Id : 512452829
Question Shuffling Allowed : Yes

Question Number : 79 Question Id : 51245213017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The function gin 2z is W periodic

1. True
2. False

Options :
51245240141. 1
51245240142.2

Question Number : 80 Question Id : 51245213018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Theseries] —24+3 —44+... 4 (_1)” Lyoresciig convergent.

1. True
2. False

Options :

51245240143. 1

51245240144.2

Sub-Section Number : 29
Sub-Section Id : 512452830
Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 51245213019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

hMatch List | with List 11

List | List 11

- 2
A. The natural domain of f(z) = £ 4 ||, The set of real numbers except —3

, 3
B. The natural domain of f(z) = i_: II. The set of real numbers except 2
, 2
C. The natural domain of f(z) = jmfz lll. The set of real numbers except —2

, 2
D. The natural domain of f(z) = 1+; IV. The set of real numbers except 2

Choose the correct answer from the options given below:

TA-LB-II,C-ll,D-I
2-A-:B-I,C-V.D-I
2A-N.B-1,C-V.D-I
4. A-1I,B-1,C-Iv,D-1

Options :

51245240145. 1
51245240146.2
51245240147.3
51245240148. 4

Question Number : 82 Question Id : 51245213020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List 11

A. For a real valued function f of real variable, to shift |I. add a negative constant to the
the graph of y=1(x) straight up right-hand side of the formula y="1(x)

B. For a real valued function f of real variable, to shift L
ll.add a positive constant to x

the graph of y=1(x) straight down

C. For a real valued function f of real variable, to shift |lll. add a positive constant to the
the graph of y=1(x) to left right-hand side of the formula y=f(x)

D. For a real valued function f of real variable, to shift ,
IV. add a negative constant to x

the graph of y=1(x) to right

Choose the correct answer from the options given below:

1.A-1,B-I1,C-lI,D-1IV
2ZA-IV,B-Il,C-1,D-l
SA-IL,B-I,C-1,D-1IV
4 A-N,B-1,C-llI,D-IV

Options :

51245240149. 1
51245240150. 2
51245240151. 3
51245240152. 4

Question Number : 83 Question Id : 51245213021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List Il
A. dii_(mg} I 87
B%[m] .54
C. 4 (25) 1. 1

D. £ (%) V.32

Choose the correct answer from the options given below:

1.A-1,B-1l,C-IV,D-ll
ZA-IV,B-IIl,C-Il,D-I
3A-IV,B-I,C-llIl,D-l
4 A-IV,B-lIl,C-Nl,D-1

Options :

51245240153. 1
51245240154.2
51245240155. 3
51245240156. 4

Question Number : 84 Question Id : 51245213022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List 1l

A. The function f(:l:} = q is . is continuous at the point = 2
B. The function f(x) = % Il. continuous at the point ¢ = (

C. The function f(z) = mﬂl 1 is Ill. continuous at every real number
D. The function _f(:r.] = tanzx is I\V.not continuous at ¢ — 2

Choose the correct answer from the options given below:

T.A-N,B-1,C-IV,D-Il
2ZA-IV,B-I,C-lil,D-l
3A-1,B-l,C-I1,D-IV
4 A-,B-IV,C-1l,D -1

Options :

51245240157. 1
51245240158. 2
51245240159. 3
51245240160. 4

Question Number : 85 Question Id : 51245213023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List II

A. The polar equation » = 1 representsa ___ . straight line
B.The polar equation @ = 3 represents a 1. (0, 0)

C. A polar coordinate of the point (0, 0) is ___ 1. circle

D. Cartesian coordinate of the point in the polar form (1, 7/2) is V. (0, 1)

Choose the correct answer from the options given below:

1.A-N,B-1,C-IV,D-l
ZA-1,B-l,C-lIl,D-IV
3A-IILB-1,C-II,D-IV
4 A-,B-lIl,C-IV,D-l

Options :

51245240161. 1
51245240162. 2
51245240163. 3
51245240164. 4

Question Number : 86 Question Id : 51245213024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List 11

A. The natural domain of the function f{:l:, y} = fis ,
sy . the entire plane

B. The natural domain of the function f(z, y) = % is Il.
{(z, y) e R* :y # 0}

C. The natural domain of the function _f{;lh y} — L:y*] is 1.
{(z, y) e R* : & # 0}

D. The natural domain of the function f(m, yj = sinzy is V.
{(z,y) sR*: z # g}

Choose the correct answer from the options given below:

TN TR D
28N B C - D
o A=NB N C-1 DS
4. A-11,B-II,C-1,D-IV

Options :

51245240165. 1
51245240166. 2
51245240167. 3
51245240168. 4

Question Number : 87 Question Id : 51245213025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List Il
)
&

B.a-(—z +y)|I. 2

4
C. By(m+2y} 1. 3
D. 5= (32 + y)|Iv.1

Choose the correct answer from the options given below:

1.A-W,B-I,C-ll,D-1l
2. A-NGB - E-T DA
3A-NB-AC- DA
4 A-V, B-lIIl,C-lII,D-1

Options :

51245240169. 1
51245240170. 2
51245240171.3
51245240172. 4

Question Number : 88 Question Id : 51245213026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List 11

A. A function f is strictly decreasing on an interval T if for all
z,ye T

B. A function f is strictly increasing on an interval [ if for all
z,yeT

l. an increasing function

Il. a decreasing function

lLx <y implies f(x) <
fy)
D.flz) = —x*, 2 >0is IV. x <y implies f(x) > f(y)

Cflz)=x,zeRis

Choose the correct answer from the options given below:

1.A-IV,B-ll,C-ll,D-I
2A-,B-IV,C-1,D-I
3A-IV,B-IILC-1,D-Il
4 A-,B-IV,C-1l,D -1

Options :

51245240173. 1
51245240174. 2
51245240175.3
51245240176. 4

Question Number : 89 Question Id : 51245213027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List II
a lim(5+2) |2s
3. lim (=5+ 2) liL—25
c im (25 %) . —5
D. lim (=25 + 2)iv. 5

Choose the correct answer from the options given below:

1.A-WW,B-l,C-ll,D-I
2A-IV,B-llIl,CI-,D-I
3A-,B-IV,C-ll,D-I
4A-NLEB-IV,C-,D-l

Options :

51245240177. 1
51245240178. 2
51245240179. 3
51245240180. 4

Question Number : 90 Question Id : 51245213028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

n=1

List | List II
= 1
A. The nth partial sum of the series Y et is l. n
n=1
B.
o n{n+1
The nth partial sum of the series »_ 1 is n2 5 )
n=1
£
2 n—1
The nth partial sum of the series 3 1. is .2 — (%)
n=1
D.
o
The nth partial sum of the series »_ 2 is IV.2n

Choose the correct answer from the options given below:

TL.A-M,BE-LC-lIl,D-IV
ZA-,B-I,C-1,D-IV
3A-,B-L,C-IV,D-I
4A-1,B-II,C-I,D-IV

Options :

51245240181. 1
51245240182. 2
51245240183. 3
51245240184. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

30
512452831
Yes



Question Number : 91 Question Id : 51245213029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is (are) FALSE?

A. Bolzano's Intermediate Value Theorem heolds for continuous functions on closed and
bounded intervals.

B. Bolzano's Intermediate Value Theorem holds for discontinuous functions on closed and
bounded intervals.

. Bolzano's Intermediate Value Theorem holds for functions on closed and bounded intervals.

D. Bolzano's Intermediate Value Theorem holds for step functions on closed and bounded
intervals.

Choose the correct answer from the options given below:

1. A, B and D only
2. B and D only

3. A, Band C only
4. B, C, and D only

Options :

51245240185. 1
51245240186. 2
51245240187. 3
51245240188. 4

Question Number : 92 Question Id : 51245213030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is (are) FALSE?

A. Differentiable functions are continuous

B. Continuous functions are differentiable

C. Differentiable functions are not continuous

D. Centinuous functions are not differentiable

Choose the correct answer from the options given below:

1. A, B and D only
2. B, C, and D only
3. A only
4. B only

Options :

51245240189. 1
51245240190. 2
51245240191. 3
51245240192. 4

Question Number : 93 Question Id : 51245213031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is (are) increasing function(s)
Af(r) =cosz,z € R

B. f(x) =sinz, z € R

C. f(z) = tanz, —7/2 <z < w/2

D. f(z) =5+ tanz, —w/2 <z < w2

Choose the correct answer from the options given below:

1. A, B and D only
2.Cand D only
3.C only

4.D only

Options :

51245240193. 1
51245240194. 2
51245240195. 3
51245240196. 4

Question Number : 94 Question Id : 51245213032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following function(s) is (are) decreasing?
Af(z) ==, 0<z <100

B. g(z) =2?, 0 <z <100

C.h(z) =2* 0 <z <100

D.—z?, 0 < x < 1000

Choose the correct answer from the options given below:

1. A, B and D only
2. B, Cand D only
3.A, Cand D only
4. D only

Options :

51245240197. 1
51245240198. 2
51245240199. 3
51245240200. 4

Question Number : 95 Question Id : 51245213033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The function f(z) = x> has

A. maximum atx =0

B. minimum atx =0

C. minimum at x=10

D. maximum at z = —1()

Choose the correct answer from the options given below:

1. A, B and D only
2. A only
3.B only
4. C only

Options :

51245240201. 1
51245240202. 2
51245240203. 3
51245240204. 4

Question Number : 96 Question Id : 51245213034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



For the function f(x) = — csc(2z), the local minimum points are
A T =nrw+ % for each integer n
B. £ = nw for each integer n

C.r=nw-+ % for each even integer n
D.z = nw + % for each odd integer n

Choose the correct answer from the options given below:

1. A, B and D only
2. A only

3.Band Conly
4. B only

Options :

51245240205. 1
51245240206. 2
51245240207. 3
51245240208. 4

Question Number : 97 Question Id : 51245213035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following limits have the value 0.

o limsina
T r—D

p lim tan x

r—0

c lim(z? + z)

=0

n lim cosx

r—+
Choose the correct answer from the options given below:

1. A, B and D only
2. A and B only

3.B,C, and D only
4. A, B, and C only

Options :

51245240209. 1
51245240210. 2
51245240211. 3
51245240212. 4

Question Number : 98 Question Id : 51245213036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following paramettic equations represent(s) the portion of the curve y = sin
over the interval [—2m, 2x]?

Az=t y=cost, -2m<t<2w

Bz =t y=—cost, 2w << 2w
Cex=ty=smi 2vx<i<2m

D. None of the above

Choose the correct answer from the options given below:

1. A, B and D only
2. A only

3. C only

4. A and B only

Options :

51245240213. 1
51245240214. 2
51245240215.3
51245240216. 4

Question Number : 99 Question Id : 51245213037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Another polar coordinate of the point with the polar coordinate (5, —3/2) is

A (5, m/2)

2. (5, 0)

C. (5, —m)

D. (5, 7)

Choose the correct answer from the options given below:

1. A only

2. A and B only
3. Aand C only
4. A and D only

Options :

51245240217. 1
51245240218. 2
51245240219. 3
51245240220. 4

Question Number : 100 Question Id : 51245213038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The caridicid y = 1 — cog @ is

A. not symmetric about the x-axis

B. symmetric about the x-axis

C. tangent at the origin is the y-axis

D. tangent at the origin the liney = @

Choose the correct answer from the options given below:

1. A and D only
2. B only

3. A and C only
4. B and C only

Options :

51245240221. 1
51245240222.2
51245240223. 3
51245240224. 4



